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535975—2X [H 12 11 3 2 7 1 0.875
PYTHA Ay Lt 10 8 8 2 6 2 0.750
[EBC PR 8 2 2 0 5 0 1.000
FOOHLR)-DX atE 6 6 5 1 5 0 1.000
G-ROCKETS x| 5 3 3 3 4 0 1.000
FOOHLR)=DX AE 5 5 3 1 4 1 0.800
JAKEN ING 11 6 5 2 3 2 0.600
TMGEYZAVR’ ZH 10 10 8 0 3 5 0.375
[EBC = 8 7 3 0 3 2 0.600
el A 10 8 5 0 3 5 0.375
Beers Fix 6 4 3 0 3 2 0.600
1+ mARE 5 5 5 0 2 2 0.500
IM1+—=2 E 3 3 1 0 2 0 1.000
1+ HFHL 4 4 4 0 2 1 0.667
JAKEN =8 5 5 1 0 2 3 0.400
G-ROCKETS 1E%R 5 5 1 1 2 0 1.000
G-ROCKETS T 3 2 0 0 2 0 1.000
PYTHA R 1#H 4 4 2 0 2 1 0.667
53975—2 1Lz 5 2 1 1 2 1 0.667



